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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version Authentic

Do as directed
1.If the area of a triangle having vertices at (3,k),(9,3)and(5,2) is 7 unit, find k.

2.In what ratio the line-segment joining the Points (3,-1) and (1,2) is divided by the
line x-y-2=0?
Do as directed

1.Find the equation of line passing through (3,4) and parallel to 3y-2x=1

2. Find the acute-angle subtended between the lines J3x— y+1=0 and
x—3 y+2=0
Do as directed
1.Find the equation of a circle having centre at (3,4) and passing through
origin.
2.Find the equation of tangent to the circle x*+y* —6x+10y+21=0 at (1,-2)

Do as directed

L. If f(x)= I=x then prove that
1+x

foo+f[§j=o

X +27

2. Evaluate Ilim >
+5x+6

x—>=3 x

OR
Do as directed

LI ()= 2Xth
bx+a

Ff =1
X

l—cosx
2

then prove that

2. Evaluate lim
x—0 X

Do as directed
1. Differentiate e¢* with respect to x from the first principle of differentiation.
2. Find & jf y=4DCosx

+(x* +1)tanx
dx b+acosx

Do as directed
. ody . e” .
1. Find —=— if y= asin bx —bcos bx
dx . a’ +b* [ ]

2. Find @ if x’+y’ =3axy
dx
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Do as directed
1. Differentiate sinx with respect x from the first principle of differentiation

2. Find % if y=log(x++/x*+a’)
x
Do as directed

1. Find P if y=x*
dx

2,. Find %if x=a(t+cost),y=a(l+sint)
X

Do as directed

s d’y dy
1. If y=e™ * then prove that (l+x*)—=+(2x—m)—==0
Y P ( ) dx? ( )dx

2. Equation of a particle in a straight line is given by s =¢> +3¢ ,# > 0 .Find
velocity and acceleration at t=3 sec.
Do as directed

1. Evaluate J.mdx

2
COoS X

2. Evaluate I "™ cos xdx

OR
Do as directed

2
1. If y= 2¢” +3e™ then prove that d f—?_@:o
X X

2. Find the maximum value of x* —=3x+11

Do as directed
2

1. Evaluate J.%x
cos” xsin” x
sin(log x)

2. Evaluate |———2dx

X
Do as directed

1. Evaluate J.xlog xdx

v/sin x o
vsinx ++/cos x

Va

2
2. Evaluate J‘
0

Do as directed
1

Evaluate de
0x+1

2. Find the area of the region bounded by the curve y =x” and the line y=x+2
OR
Do as directed

1. Evaluate J.xexdx

T

2
2. Prove that J.10g tan xdx =0
0

Do as directed

2 3
1. Evaluate I M dx
X

1
2. Using integration find the area of the circle x°+)° =a’
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